

PO Box 93999 Southlake, TX 76092

Voice: Fax:

(817) 546-7282 (817) 246-3361

Bill To:

Murfin Drlg. Co., Inc. 250 N. Water STE #300 Wichita, KS 67202

INVOICE
Invoice Number: 120

Invoice Date: Sep 9, 2013

Page:

1

Now Includes:



Customer ID	Field Ticket#	Paymen	t Terms
Murfin	61856	Net 30	Days
Job Location	Gamp Location	Service Date	Due Date
KS1-01	Great Bend	Sep 9, 2013	10/9/13

Quantity -	Item	Description	Unit Price	Amount
		Bentley #1-17		
165.00	CEMENT MATERIALS	Class A Common	17.90	2,953.50
3.00	CEMENT MATERIALS	Gei	23.40	70.20
6.00	CEMENT MATERIALS	Chloride	64.00	384.00
178.24	CEMENT SERVICE	Cubic Feet	2.48	442.04
325.60	CEMENT SERVICE	Ton Mileage	2.60	846.56
1.00	CEMENT SERVICE	Surface	1,512.25	1,512.25
40.00	CEMENT SERVICE	Pump Truck Mileage	7.70	308.00
40.00	CEMENT SERVICE	Light Vehicle Mileage	4.40	176.00
1.00	EQUIPMENT OPERATOR	Charles Kinyon		
1.00	EQUIPMENT OPERATOR	Mike Scothorn		
1.00	OPERATOR ASSISTANT	Kevin Weighous		
			1	
		2 1 L M		
		CA (SID)		

ALL PRICES ARE NET, PAYABLE 30 DAYS FOLLOWING DATE OF INVOICE. 1 1/2% CHARGED THEREAFTER. IF ACCOUNT IS CURRENT, TAKE DISCOUNT OF

\$ 2,342,38

ONLY IF PAID ON OR BEFORE Oct 4, 2013

Subtotal	6,692.55
Sales Tax	243.65
Total Invoice Amount	6,936.20
Payment/Credit Applied	
TOTAL	6,936.20

ALLIED OIL & GAS SERVICES, LLC 061856 Federal Tax I.D. # 20-8651475

REMIT TO P.O. BOX 93999

SOUTHLAKE, TEXAS 76092				SERVICE POINT: SREAT BEAD			
ク-9-/3 DATE	SEC.	TWP.	RANGE 27 h	CALLED OUT 4:00 PM	ON LOCATION 6:30Pm	JOB START	JOB FINISH
BENTIEX	WELL#	1-17		NDENNIS A		CQUNTY	STATE
LEASE OLD OR NEW (Cir					rea Chief	lane	1/3
OLD OR HEITZER	icic (iic)		110 /5 K	EINTO]	
CONTRACTOR /			٧	OWNER			
TYPE OF JOB 5		c-e				"	
HOLE SIZE 122	·	T.D		CEMENT			
CASING SIZE TUBING SIZE	078		<u>РТН 226.4</u> РТН	AMOUNT OR <i>ろいて</i>	DERED 165	5K5 C/a	55 A
DRILL PIPE			PTH		21.54		
TOOL			PTH				
PRES. MAX			NIMUM	COMMON	145	@ <u>17.90</u>	<u>7.953.∞</u>
MEAS, LINE	000	SH	OE JOINT	POZMIX		_@	
CEMENT LEFT IN PERFS.	CSG.	12		GEL		_@ <u>_23.Y(</u>	70.20
DISPLACEMENT	FRES	sh HI	20 13.46)	CHLORIDE _ <i>BB</i> / ASC	<u> </u>	_⊚ _⊚ <i>`€∆'∘०</i>	384.00
		IPMENT		<u> </u>		~ [@]	
	200					@	
PUMP TRUCK (CEMENT	ER CX	RIES KINS	'ON			
# 398	HELPER	mike	SCOTHOR	·/		_@	
BULK TRUCK						_@ 	
#344-170	DRIVER	Kevil	weishow	<u> </u>		_	. ————
BULK TRUCK #	DRIVER					@	
<u> </u>	DKIVEK			— HANDLING	78.27	@ 2.48	442.03
				MILEAGE 🔀	17 X 70 X	3.60	846.56
00-1-	,	MARKS:				TOTAL	4.696. 2
BREAK C				mud			
MOOK U.P. Mix 1655K	5 010	<u> </u>	34.CC 24	50/	SERVI	CE	
DisPlace	13.4	6 BB1	H20		B 226,4	,	
CEMENT				PUMP TRUCH		1512-	23
Shat in	F,	WISh.	ed	EXTRA FOOT		_@	
					Hum 40		308.00
				MANIFOLD	vm 40	-@ 	00
			,		V VVC 10	_@ <u>_1, 1/3</u> _	1/9-
CHARGE TO: 2	TARF	F/N	PRIII'N				· ————
			C.			TOTAL	1.996.3
STREET		· 					
CITY	ST	ATE	ZIP	<u></u>	DI IIO 6 EI O 10	e eogudaada	SOT .
					PLUG & FLOAT	EQUITMEN	4 £
						@	
To: Allied Oil &	Gas Servi	ices LLC				_ @	
You are hereby re		•		nt —-		_ @	
and furnish ceme				•••		_@	
contractor to do v							
done to satisfaction	on and su	pervision	of owner agent o	r		TOTAL	·
contractor. I have				AL CAT DO MAY!	16 A		
TERMS AND CO	ONDITIO	NS" liste	d on the reverse s	side. SALES IAX (ц Апу)	<u>57</u>	
	121		-	TOTAL CHAI	RGES 6.67.2	38	
PRINTED NAME	1 100	n 11	UOCO	DISCOUNT _	<i>ط</i> ٠3٢2	<u>. , </u>	ID IN 30 DAYS
	-				1f Any) RGES 6.692 2.342 Y.35	50.15	
signature X	Juan	r An	vio		۷. ۵۰	, , ,	
The	- ~ N K	· Xo	a!				



PO Box 93999 Southlake, TX 76092

Voice:

(817) 546-7282

Fax:

(817) 246-3361

Bill To:

Murfin Drlg. Co., Inc. 250 N. Water

STE #300 Wichita, KS 67202 INVOICE

Invoice Number: 138744

Invoice Date: Sep 18, 2013

Page:

Now Includes:



Customer ID	Field Ticket#	Payment	t Terms
Murfin	61816	Net 30	Days
Job Location	Camp Location	Service Date	Due Date
KS1-03	Great Bend	Sep 18, 2013	10/18/13

Quantity	l tem .	Description	Unit Price	Amount
	<u> Julius (n. 1965) esta la Propinsi (n. 1966) esta de la Propinsi (n. 1966)</u>	Bentley Unit #1-8* # 1-17		TAKE HER PAGE THE PAGE
180.00	CEMENT MATERIALS	Class A Common	17.90	3,222.00
120.00	CEMENT MATERIALS	Pozmix	9.35	1,122.00
10.00	CEMENT MATERIALS	Gel	23.40	234.00
75.00	CEMENT MATERIALS	Flo Seal	2.97	222.75
322.20	CEMENT SERVICE	Cubic Feet	2.48	799.06
538.13	CEMENT SERVICE	Ton Mileage	2.60	1,399.14
1.00	CEMENT SERVICE	Rotary Plug	2,483.59	2,483.59
40.00	CEMENT SERVICE	Pump Truck Mileage	7.70	308.00
40.00	CEMENT SERVICE	Light Vehicle Mileage	4.40	176.00
1.00	CEMENT SUPERVISOR	Dustin Chambers		
1.00	EQUIPMENT OPERATOR	Mike Scothorn		
1.00	EQUIPMENT OPERATOR	Daniel Casper		
:				
		DA XIA		
		(1)1/2	†	
			<u> </u>	

ALL PRICES ARE NET, PAYABLE 30 DAYS FOLLOWING DATE OF INVOICE. 1 1/2% CHARGED THEREAFTER. IF ACCOUNT IS CURRENT, TAKE DISCOUNT OF

3,488.28

ONLY IF PAID ON OR BEFORE
Oct 13, 2013

Subtotal	9,966.54
Sales Tax	712.61
Total Invoice Amount	10,679.15
Payment/Credit Applied	
TOTAL	10,679.15

ALLIED OIL & GAS SERVICES, LLC 061816 Federal Tax I.D. # 20-8651475

SOUTHLAKE, TEXAS 76092		SERV	ICE POINT:	Ben life 5
DATE 7-10-17 [1] 165 21W	CALLED OUT	ON LOCATION	JOB START	JOB FINISH
LEASE WELL# 19 LOCATION Pendern	13 1/2E1	KN EINTO	7	STATE PA
OLD OR (EW (Circle one)		:		
CONTRACTOR MUST GO DWILLIAM IT 21	OWNER		,	
TYPE OF JOB Koron flug HOLE SIZE 7/4 T.D.	CEMENT			
CASING SIZE 45/4 DEPTH	AMOUNT OR	DERED 300	15k5 60	34-1-A
TUBING SIZE DEPTH	404.002	4/1,gel 1/2	1 FB	27 (355/7
DRILL PIPE 41/2 DEPTH 2/60				
TOOL DEPTH PRES. MAX MINIMUM	COMMON	180	- 12 Su	2 22- 20
MEAS. LINE SHOE JOINT	COMMON POZMIX	100		3.222.00
CEMENT LEFT IN CSG. A!	GEL	120		234.00
PERFS.	CHLORIDE_			
DISPLACEMENT Great grow	ASC		@	
EQUIPMENT	1100	<u> </u>	_@ <u>Z、タア</u>	222. 75
		<u> </u>	_@	
PUMPTRUCK CEMENTER Dusoth Charbots	·	· · · · · · · · · · · · · · · · · · ·	_@	
# 3925 HELPER M/Ke Scotling BULK TRUCK		:		
# 344-170 DRIVER Dan Cosper		:	@	
BULK TRUCK		·	_@	
# DRIVER	HANDLING	ל ממכ	-@ <u>-</u> -@ スィソ	700 05
	MILEAGE /	3.45 x 40 x	2.60	
REMARKS:		;		6.998.96
Cill Hole with By mud			TOTAL	(<u>G </u>
1x2160-509Ks		. SERVI	CE	
2, 1350-80 565		:		
31 690 - 50 5kg 4, 240 - 50 5kg	DEPTH OF JO			
5, 60-2055			483.5°	
61 BH-30-5KS	EXTRA FOOT		@	308.00
7. MH-20-4KG Plug Pan-10:15ph	MANIFOLD.		_@ <u>_//</u> 	<u> 50 8. ~ </u>
		VM 40		176.00
			_@	
CHARGE TO: March Pst Ung				2012 59
STREET		· .	TOTAL	2.967.39
CITYSTATEZIP				
		PLUG & FLOAT	r EQUIPMEN	' T
			_@	
To: Allied Oil & Gas Services, LLC.				
You are hereby requested to rent cementing equipment				
and furnish cementer and helper(s) to assist owner or		:		
contractor to do work as is listed. The above work was		1	TOTAL	
done to satisfaction and supervision of owner agent or contractor. I have read and understand the "GENERAL			IOIAL	
TERMS AND CONDITIONS" listed on the reverse side.	SALES TAX ((If Any)		
	TOTAL CITAL	DODG G G/ /	\$20	
PRINTED NAME & WOR TINGED	TOTAL CHAI	2.989	96	D IN 30 DAYS
PRINTED NAME 11 - VUIT 1 / VOC()	DISCOUNT_		IF PAI	D IN 30 DAYS
~ (1		6.9	76.5	8
SIGNATURE A fran lives			ب	
TIK				
/ nani ·		•		